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IfA={51,3}andB = {5,0,1} ,thenAuUB =
() {3,0,9,1,5} (ii) {1,0,3,8} (iii) {} (iv) {1,3,0} (v) {0,3,1,5}

If A= {6,09,8} and B = {5,2,3,8} ,thenAuUB =
() {8,3,13,2,9,6,0} (ii) {5,8,13,3,0,9,2,6} (iii) {9,5,2,0,6,3} (iv) {2,0,6,5,3,8,9} (v) {3,6,5,9,8,2}

If A ={11,15,12,2,10} and B = {1,14,4,12,7} ,then AU B =
(i) {12,15,7,2,1,11,10,4,14,19} (i) {2,15,11,4,12,10,1,7,19} (i) {7,4,1,12,10,2,14,15}

(iv) {1,14,11,12,2,4,10,15} (v) {2,15,12,10,4,11,14,7,1}

IfA=1{1,2,12} ,B={2,57} andC={7,4,3} ,thenAu (Bu C) =
(i) {7,3,12,2,1,4} (i) {5,3,7,12,4,18,2,1} (iii)) {2,4,12,7,1,5,3} (iv) {54,1,2,3,7} (v) {}

If A= {5,6,4},B={13,14,0} and C = {11,15,3,12} ,thenAu (Bu C) =
() {0,12,4,5,3,13,14,15,6,11} (ii) {15,12,5,6,0,14,3,13,11} (iii) {13,3,16,15,11,14,4,6,12,5,0}

(iv) {4,0,6,511,15,13,12,3} (v) {3,6,4,15,5,0,13,14,11}

IfA={6,148},B={4,1511} and C = {8,12,11} ,thenAu (Bu C) =
() {1,8,11,6,4,15} (i) {} (i) {15,6,11,8,12,4} (iv) {6,4,11,15,1,12,8} (v) {11,8,6,1,12,4,17,15}

IfA={6,3,7,09}and B = {9,7,1,8,5} ,thenAnB =
(i) {7,9}% (i) {3,9,7} (i) {5,9,7,8} (iv) {7,9,5} (v) {7,9,13}

If A={10,14,1,7,6,0,4} and B = {5,0,4,8,10,2,12} ,thenAn B =
() {2,0,10,4}y (i) {54,7,10,0} (i) {4,10,0} (iv) {0,4,19,10} (v) {6,0,10,4}

If A= {6,14,9,2,12,5} ,B = {10,1,4,12,0,15} and C = {0,4,3,7,9,8}, thenAn (Bn C) =
(i) {19} (i) {14} (i) {} (iv) {8} (v) {15}

IfA={1,13,0,9,12,7,15,3} , B = {14,4,10,5,12,6,11,2} and C = {0,13,9,8,4,5,6}, then An (B n C) =
(i) {1} @iy {} (i) {8} (iv) {19} (v) {11}

IfA={0,7,2,8} and B = {9,7,0,8} ,thenA - B =
(i) {} (i) {2} (i) {152} (iv) {9} (v) {2,0}

IfA={13,15,3,0,6} and B = {1,2,15,9,6} , then A-B =
() {0,3,15,13} (ii) {2,9,1} (iii) {13,3} (iv) {20,0,3,13} (v) {0,3,13}

If A={13,12,5,3,2,14} and B = {10,15,6,0,12,14} ,then A—-B =
() {2,13,5} (i) {5,13,2,3} (iii) {5,3,2,13,16} (iv) {14,3,2,13,5} (v) {0,6,15,10}
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If A=4{09,10,5} and B = {0,4,9,5} ,thenB - A =
iy {} (i) {4} (i) {4,0} (iv) {13,4}

IfA={6,8,3,10,13} and B = {6,10,11,15,13} ,thenB — A =
(i) {15} (i) {} (i) {15,20,11} (iv) {11,6,15} (v) {15,11}

If A={3,10,12,6,5,9} and B = {10,14,1,2,7,9} ,then B — A =
(i {2,7,1}y (i) {}y (i) {1,2,14,7,9} (iv) {14,2,7,1} (v) {14,2,19,1,7}

The symmetric difference of set A = {5,0,3,4} and set B = {1,0,3,4} is
(i) {1,0,5} (i) {} i) {5} (iv) {1} (v) {1,5}

The symmetric difference of set A = {10,6,9,2,3} and set B = {6,10,0,4,3} is
(i) {2,9} (i) {10,9,2,4,0} (iii) {0,4} (iv) {2,4,9,0} (v) {2,9,0}

The symmetric difference of set A = {15,6,11,10,5,8} and set B = {5,0,11,9,1,8} is
(i) {0,1,6,10,9,15} (ii) {6,15,10} (iii) {15,0,1,6,10,5,9} (iv) {9,6,10,1,15} (v)

{9.0,1}
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1) (v) 2) (iv) 3) (v) 4) (iii) 5) (i) 6) (iv)

7) (i) 8) (iii) 9) (iii) 10) (ii) 11) (ii) 12) (v)
13) (ii) 14) (ii) 15) (v) 16) (iv) 17) (v) 18) (iv)
19) (i)
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